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General Aptitude (GA)

Q.1 - Q.5 Carry ONE mark Each

Q.1 If ‘—’ denotes increasing order of intensity, then the meaning of the words

[drizzle — ram — downpour] 15 analogous to [ — quarrel — feud].

Which one of the given options is appropriate to fill the blank?

(A) bicker
(B) bog

(C) dither
(D) dodge
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().2 Statements:
1. All heroes are winners.
2. All wmners are lucky people.
Inferences:
I. All lucky people are heroes.
II. Some lucky people are heroes.
[II. Some wmners are heroes.
Which of the above mierences can be logically deduced from statements 1 and 27?
(A) Only I and II
(B) Only II and III
(©) Only I and III
(D) Only III
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Q.3 A student was supposed to multiply a positive real number p with another positive
real number q. Instead, the student divided p by q. If the percentage error in the
student’s answer is 80%, the value of g is

A) |5
(B) V2
C) |2
D) |5

Q.4 If the sum of the first 20 consecutive positive odd numbers is divided by 204, the

result 18
(A) |
(B) 20
(C) 2
(D) 142
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Q.5 The ratio of the number of grls to boys n class VIII 1s the same as the ratio of the

number of boys to girls n class IX. The total number of students (boys and girls) in
classes VIII and IX 1s 450 and 360, respectively. If the number of gwrls m classes

VIII and IX 1s the same, then the number of girls in each class is

A) | 150
B) | 200
C) |250
O) | 175
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Q.6 — Q.10 Carry TWO marks Each

Q.6 In the given text, the blanks are numbered (1)—(iv). Select the best match for
all the blanks.

Yoko Roi1 stands () as an author for standing (1) as an honorary

fellow, after she stood (1) her writings that stand (V) the freedom of

speech.
(A) (i) out (i) down (i) in (iv) for
(B) (i) down (i) out (i) by (iv) in
(C) (i) down (i) out (iii) for (Iv) m
(D) (i) out (i) down (i) by (iv) for
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Q.7 Seven identical cylndrical chalk-sticks are fitted tightly i a cyhndrical contamner.
The figure below shows the arrangement of the chalk-sticks mside the cylinder.

The length of the contamer is equal to the length of the chalk-sticks. The ratio of
the occupied space to the empty space of the contamer 1s

A) |52
B) |72
©) |9
D) |3
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Q.8 The plot below shows the relationship between the mortality risk of cardiovascular
disease and the number of steps a person walks per day. Based on the data, which
one of the following options 1s true?

Mortality Risk of Cardiovascular Disease

0 5000 10000 15000 20000
Steps/Day

(A) The risk reduction on increasing the steps/day from O to 10000 1s less than the risk
reduction on mncreasing the steps/day from 10000 to 20000.

(B) The risk reduction on increasing the steps/day from 0O to 5000 1s less than the risk
reduction on mncreasing the steps/day from 15000 to 20000.

(©) For any 5000 increment in steps/day the largest risk reduction occurs on going from
0 to 5000.
(D) For any 5000 mcrement in steps/day the largest risk reduction occurs on gomg from
15000 to 20000.
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Q.9 Five cubes of identical size and another smaller cube are assembled as shown in
Figure A. If viewed from direction X, the planar image of the assembly appears as
Figure B.
{H.ﬂ“\\}
L“K‘a/f
NS
&"“‘m} e |
s
o | P
0 I \Y
Figure A Figure B
If viewed from drection Y, the planar image of the assembly (Figure A) will
appear as
(A)
(B)
(€)
(D)
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Q.10 | Visualize a cube that 1s held with one of the four body diagonals algned to the
vertical axis. Rotate the cube about this axis such that its view remams unchanged.
The magnitude of the mnimum angle of rotation 1s

A) | 120°
B) | 60°
(C) |90°
D) | 180°
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Q.11 - Q.35 Carry ONE mark Each

Q.11 | Letz = x + iy be acomplex variable and Z be its complex conjugate. The equation
Z° + z* = 2 represents a

(A) parabola

(B) hyperbola

(C) ellipse

(D) circle

Q.12 | The pressure drop across a control valve is constant. The control valve with mherent
characteristic has decreasing sensitivity. If x represents the fraction of maximum
stem position of the control valve, then the function f(x) representing the fraction
of maximum flow 1s

(A) a* ™', where a is constant

(B) Vx

(C) X

(D) x°
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Q.13 | A discrete-time sequence is given by x[n] =[1,2,3,4] for 0 <n < 3. The zero
lag auto-correlation value of x|n] is

A |1
B) |10
C©) |20
D) |30
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Q.14 | Match the following measuring devices with ther principle of measurement.

Measuring Device Principle of Measurement

(P) Optical pyrometer (I) Variation n mutual mductance

(Q) Thermocouple (IT) Change in resistance

(R) Strain gauge (IIT) Wavelength of radiated energy

(S) Lmear variable (IV) Electromotive force generated by two
differential transformer dissimilar metals

(A) (P) — D, Q) —dAV), R) —dD, ) =)

(B) (P) = dAV), Q) — D, R) —dDh, S)— (D)

(©) (P) — ), (Q) — D, (R) =AV), (5) —dD

(D) (P) =), Q) —AV), R) =), 5) — D
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Q.15 | The capacitor shown m the figure has parallel plates, with each plate having an
area A. The thickness of the dielectric materials are d, and d, and ther relative
permittivities are €, and &,, respectively. Assume that the fringing field eftects are
negligible and g, 1s the permittivity of free space.

Fixed Plate

If d,is decreased by 0d,, the resultant capacitance becomes

Movable Plate

(A) £y A
2
(B) €y A
d,
d2+8_2
(€) € A
d
(D) €y A
d, +68d,+ %
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Q.16 | Among the given options, the smplified form of the Boolean function
F=(A+ AB)+ A.(A+ B).C s
(A) A+B+C
(B) A.B.C
(C) B+ A.C
(D) A+B.C
Q.17 | Consider the state-space representation of a system
x = Ax + Bu
where x is the state vector, u 1s the mput, A is the system matrix and B is the mput
matrix. Choose the matrix A from the following options such that the system has a
pole at the origm.
(A) 0 1
2 3]
(B) 1 —1.5‘
— & 3
(©) [ 1 1.5 ]
2 =3
(D) [ 0 1 ‘
—4 3
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Q.18 | The sinusoidal transfer function corresponding to the polar plot shown i the figure,
for T >0,18

A |1-joT

(B) 1—jwT
1+ jwT

(C) 1+ jwT

(D) 1
1+ jwT
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Q.19 | A matrix M 1s constructed by stacking three column vectors v, v,, v; as
M=[v, v, 3]

Choose the set of vectors from the following options such that rank(M) = 3.

<
—
1
<
&
1
<
L
|

(A) 1
01,
1
(B) 1
11,
1
(©) 1
(2] IO], U,
1

(D) 1
(2 1|, v,
1

g
ki
3 -
3 -

<
f
|
<
2
|
<
L
|
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Q.20 | The capacitance formed between two concentric spherical metal shells having radii
x and y with y > x 18
Note: € is the permittivity of the medium between the shells.
X
(A) 4d1te ( ? )
W =i
B x°
(5) 4}"{6( )
Yy —X
C 2
() 4ne( h )
Yy —X
(D) (y2 - xy)
dme
X
Q.21 | A lnear transducer is calbrated for the ranges shown m the figure. The gain of the
transducer 1S mA /°C (rounded off to two decimal places).
Transducer \‘
Temperature Current 4mA —-20 mA
Sensor Transmitter
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Q.22 | Consider a filter defined by the difference equation
y[n] — 0.5 y[n— 2] = a x[n— 4]

where x|n| and y[n] represent the mput and output, respectively. If the magnitude
response of the filter at w =g 1S ‘H G)‘ = (.5, the value of a 1s
(rounded off to two decimal places).

Q.23 | Consider the circuit shown m the figure.

The CMOS digital logic circuit has mfinite mput mmpedance. Assume the opamp
1s ideal. A 1.8 V Zener diode with a mmimum Zener current of 2 mA 1s used. The

corresponding maximum value of resistance Rz i1s kQ.
(rounded off to one decimal place).
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Q.24

Figure shows an amplifier usmg an NMOS transistor. Assume that the transistor is
in saturation with device parameters, pCox = 250 pA/V?, threshold voltage
V1 =0.65 V and W/L = 4. Ignore the channel length modulation effect. The drain

current of the transistor at the operating pomt 1s UA (rounded off to
nearest integer).
3.3V
3.3 kQ
100 k€2
(_'.vnut
Clﬂrg{-

V. —j
" Clm*;:_re i

Q.25 | The number of complex multiplications requwred for computing a 16-point DFT
using the decimation-in-time radix-2 FFT 1s (in integer).
1
Q.26 A 3 X 3 matrix P with all real elements has eigenvalues Y 1, and —2. The value
of |[P~1] is (rounded off to nearest integer).
Q.27 | The Nyquist sampling frequency for x(t) = 10sin*(200mt) is Hz

(rounded off to nearest integer).
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Q.28 | The resistance of a 20 k€ resistor 1s measured six consecutive times using an LCR
meter. The first five readings are 19 k€, 18 kQ, 23 kQ, 21 kQ and 17 k.
If the mean of the measurements and the true value are equal, the last reading

1S kQ (rounded off to nearest integer).

Q.29 | Consider the readout circuit of a piezoelectric sensor shown in the figure.

V.
100 pF 200 pF
V('{'

. & v :
Piezoelectric otk

-
Sensor |

'VF. K

When the piezoelectric sensor generates a charge q,), the resulting change mn voltage
Vxis =2 V. Then the corresponding change i the voltage Voutis V (rounded
off to nearest integer).

Note: Assume all components are ideal.

Q.30 | The voltage appled and the current drawn by a circuit are
v(t) =954 200 cos(1207mt) + 90 cos(360nt — 60°) V

i(t) =4 cos(120mt — 60°) + 1.5 cos(240nt — 75°) A

The average power absorbed by the circuit 1s W (rounded off to
nearest integer).
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Q.31 | The current i(t) drawn by a circuit i1s given as
i(t) =4+ 30 cos(t) — 20 sin(t) + 15 cos(3t) — 10 sin(3¢t) A

The root-mean-square value of i(t) is A (rounded off to one decimal
place).

Q.32 | A lmear potentiometer (0 — 10 k€2) 1s used to measure the water level as shown in

the figure. The resistance between A and C varies lnearly from 0 to 10 k€ for a
change m water level from O to 20 cm. The sensor 1s excited using a DC voltage

source, Vs = 10 V with an mternal resistance, Rs =200 Q. If Vou =5 V, the water
level is cm (rounded off to one decimal place).

r-—--_ﬂ
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Q.33

The switch m the following figure has been closed for a long time (t < 0). It 1s
opened at t = 0 seconds. The value of dvc/dt at t = 07 is V/s
(rounded off to nearest integer).

_|_
v () 105 p(t)

0.1F

Switch

Q.34

Consider a system given by the following first order differential equation:

ay

— =y + 2t — t*

it~

where, y(0) =1 and 0 <t < co. Using a step size h = 0.1 for the improved Euler
method, the value of y(t) att = 0.1 is (rounded off to two decimal

places).

Q.35

Indian Premier League has divided the sixteen cricket teams mto two equal pools:
Pool-A and Pool-B. Four teams of Pool-A have blue logo jerseys while the rest four

have red logo jerseys. Five teams of Pool-B have blue logo jerseys while the rest
three have red logo jerseys.

If one team from each pool reaches the final, the probabilty that one team has a

blue logo jersey and another has a red logo jersey is (rounded off to one
decimal place).
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Q.36 — Q.65 Carry TWO marks Each

Q.36 | A wire of circular cross section with radius a 1s shown i the figure. The current
density is given by J = ks*, where k is a constant, s is the radial distance from the
axis and 0 < s < a. The total current I m the wire is

AXi1s

(A) k a*
2
(B) 2tk a®
3
(C) k a’
2
(D) ka*
4
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Q.37 | The measured values from a flow mstrument, whose range 1s between O and 2 flow
units, are shown m the histogram. The systematic error (bias) and the maximum
error (in flow units), respectively are
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Number of occurrence
of a particular reading
N
g

S 0.35 0.36 0.37 0.38 0.39 2
Q (flow units)

(A) 0.12 and 0.14

B) | 0.01 and 0.10

(C) 0.10 and 0.14

(D) 0.04 and 0.12
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Q.38 | Consider a discrete-time sequence

wlni] = {(0.2)”, 0<n<s7
(0, otherwise

The region of convergence of X(z), the z-transform of x[n], consists of

(A) all values of z except z = 0.2

(B) all values of z

(©) all values of z except z = 0

(D) all values of z except z = o
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Q.39 | Inthe bridge circut shown m the figure, under balanced condition, the values of R

and C respectively, are
S sin(5000t) V

(A) 1.010 Q and 19.802 uF

(B) 9.901 Q and 0.505 pF

(C) 19.802 Q and 1.01 pF

(D) 39.604 Q2 and 2.02 pF

Organizing Institute: lIScBengaluru
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Q.40 | Laplace transform of a signal x(t) 1s

1
s2+13s + 42

X(s) =

Let u(t) be the unit step function. Choose the signal x(t) from the following options
if the region of convergence is —7 < Re{s} < —6.

(A) —e %y (t) — e "*ul(—t)

(B) —e Oty (—t) — e "tu(t)

(®) e otyu(t) —e "tu(—t)

(D) —e ty(—t) — e~ "tu(—t)
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Q.41 | In the figure shown, both the opamps A1 and A2 are ideal, except that the opamp Aj
has an offset voltage (Vos) of 1 mV. For Vin= 0V, the values of the output voltages
Vout1 and Vour2, respectively, are

Vnutl

(A) 3mV and —1 mV

(B) 1 mV and 0 mV

(©) 1 mV and —1 mV

D) |2mV and 0 mV
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Q.42 | In the figure shown, the positive edge triggered D flip-flops are mitially reset
to Q = 0. The logic gates and the multiplexers have no propagation delay. After
reset, a tran of clock pulses (CLK) are apphed. The logic-states of the mputs DIN,

S and the clock pulses are also shown m the figure. Assuming no timing violations,
the sequence of output Y from the 3" clock to the 5" clock, Y,Y,Y: is

—0 —10 —0
DIN 0 0

S fi& : S : S

=

2l
|

CLK

R A A
(A) 001
(B) 010
(C) 000
(D) 011
Page 29 of 43
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Q.43 | In the figure shown, R = 1 k€ and C = 0.1 pF. For a dc gam of —10, the 3 dB
cut-off frequency (rounded off to one decimal place) is
Assume the opamp 1is ideal.
C
R
Vi“ e Vuut
= - — “VEE
(A) 159.1 Hz
(B) 1591.5 Hz
(C) 1750.7 Hz
(D) 175.0 Hz
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Q.44 | Consider the feedback control system shown in the figure. The steady-state error

e.. = lim (r(t) —y(t)) due to untt step reference r(t) 1s
t— oo

(A) K—1
K
®) |1
2
C) |0
D |1-K
K
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Q.45 | The transfer function of a system is
2
W
G(s) = -
(s) s*? +2¢w,s + wz
Choose the range of ¢ and w, (in rad/s) from the following options such that the
poles lie on the shaded region of the s-plane as shown m the figure.
J
s-plane
120°
1
(A) 625 and w, = 2
1
() 621 and w,, > 2
1
) 525 and w, > V3
(D) 1
§ = 2 and w, > V3
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Q.46 | Let C be the closed curve m the xy-plane, traversed in the counterclockwise
drection along the boundary of the rectangle with vertices at
(0,0),(2,0),(2,1),(0,1). The value of the line integral
% (—e” dx + e* dy)
‘ C
1S
(A) e’ +2e—3
(B) e? —2e —3
(C) e +e—1
(D) e +e+1
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Q.47 | In the figure shown, assume
e « 1s the phase angle between the load current and the load voltage
e [3is the phase angle by which pressure coil current lags the pressure coil
voltage of the wattmeter
e vy 1s the phase angle between currents i the pressure coil and the current
coll of the wattmeter
e 0 1s the phase angle of the voltage transformer
e ( 1s the phase angle of the current transformer
When the load has a lagging phase angle of a, which one of the following options
1S correct?
Current
Transformer
A s |
Potential : Q99 :
S — (350 o
Single E E E :
Phase :g | EE =
Supply ! E \ 2 E
_________ 3 ¢ =
E“ E' Wattmeter
(A) a=—-ytotd—-p
(B) a=-y+6d+0+
(€) a=ytoxt0+p
(D) a=yxoxb0—-p
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Q.48 | Consider an ultrasonic measurement system shown in the figure. The ultrasonic
transmitter (T) sends a continuous wave signal x(t) = cos(2mf;t) volts towards an
object whose vibration is modeled as m(t) = 0.5 sin(2mf,t) volts. Neglecting the
phase shift due to any other effect, the received signal at the receiver (R) i1s
y(t) = cos(2nf,t+ cos(2mf,t)) volts.

Assuming the frequency sensitivity factor as 500 Hz/volt, t, = 40 kHz, f, = 1 kHz,
the modulation index (B) and the frequency deviation in y(t), respectively, are

Ultrasonic
Transmitter

Ultrasonic
Receiver
(A) 0.25 and .+ 250 Hz
(B) 0.5 and = 500 Hz
(C) ] and £ 1000 Hz
(D) 0.75 and + 1000 Hz
Page 35 of 43

Organizing Institute: lIScBengaluru



GATE

2024 Instrumentation Engineering (IN)
ISc Bengaluru
Q.49 | The complex functions f(z) =u(x,y) +iv(x,y) and f(z) = u(x,y) —i v(x,y)
are both analytic m a given domam. Choose the correct option(s) from the
following.
(A) ou 0v
— =— =0
dx 0dy
(B) ou dv
—ii= ——g )
dy 0x
© |¥@_
dz
d
® |df @),
dz
Q.50 | The readings recorded from a 20-psig pressure gauge are given i the Table. The
regression lne obtained for the data 1 y =0.04 x+ 10.32. The regression
coefficient of determination, R? = (rounded off to three decimal
places).
X | 2 3 4 >
y (psig) 10.3 10.5 10.4 10.5 10.5
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Q.51 | In the figure shown, R = 4.5 kQ, AR = 1.5 k€, and INA 1s assumed to be ideal.
The equivalent resistance between A and B is kQ (rounded off to nearest
integer).
Vuut
I'R+AR B -VEE
INA: Instrumentation
Amplifier
Q.52 | Consider the capacitive sensor circuit and its output voltage shown m the figure.

The circutt 1s switched ON at t = 0. Assuming the opamp to be ideal, the frequency
of the output voltage V, 18 kHz (rounded off to two decimal places).

Capacitive Sensor
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Q.53 | The 4-point DFTs of two sequences x[n] and y[n] are X[k] =[1,—/j,1,j] and
Ykl =11, 3j,1,—3j], respectively. Assuming z[n| represents the 4-point circular
convolution of x|[n| and y[n]|, the value of z[0] is (rounded off to
nearest integer).
Note: The DFT of a N-point sequence x|[n]| is defimed as
e —j2mnk
X|k] = x[nle N
n=0
Q.54 | Consider the figure shown. For zero deflection i the galvanometer, the required

value of resistor Rx 1s QQ (rounded off to nearest integer).

~Galvanometer

90 Q
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Q.55 | Consider a unity negative feedback system with its open-loop pole-zero map as
shown m the figure. If the pont s = ja, a > 0, Lies on the root locus, the value of
a 1S (rounded off to nearest integer).

Note: The poles are marked with X in the figure.

A jw
s-plane
>
-4 -1 10 2
Y

Q.56 | A shielded cable with Csiray =20 pF and Ryire = 10 € 15 used to connect the inductive
sensors as shown i the figure. The RMS value of Vout 1S V (rounded off to
two decimal places).

Note: Assume all components are ideal, and sensors are not magnetically coupled.

V., = 6 sin(20007t) V

k-3
L,=2mH _&X
— Shielded cable
2 O Vee
“W—
‘St let
E-
L,=4mH =
E
Amplifier 20 7 O

V., = —6 sin(20007t) V
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aVp
Q57 | In the figure shown, the diode current is given by I, = Ice T .V, 1s the diode

voltage m volts, 7T'is the absolute temperature mn Kelvin, &« = 1.16 X 10* K/V, and
I. = 107" A is the saturation current. The dc current source, opamp and the
resistors are ideal, and are assumed to be temperature independent. The change in

the output voltage (Vouw) per Kelvin change i temperature is mV
(rounded off to one decimal place).

Q.58 | An ADC has a full scale voltage of 1.4 V, resolution of 200 mV, and produces
bmary output data. The mput signal of the ADC has a bandwidth of 500 MHz, and
it samples the data at the Nyquist rate. The parallel data output 1s converted to a
serial bit stream using a parallel-to-serial converter. The data rate at the output of
the parallel-to-serial converter 1s Gbps (rounded off to nearest integer).
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Q.59 | In the crcuit shown, assume the opamp i1s ideal and the mitial charge on the
capacttor 1s zero. The output voltage at time t= 2 ms 1S V (rounded off to
one decimal place).

Vin
SV

Vnut

Ilms 2ms 3ms

Q.60 | In the figure shown, Swis a switch whose position changes from 1 to O when V¢
changes from logic HIGH to LOW and vice versa. The bandwidth of the permanent
magnet moving coil (PMMCO) type voltmeter 1s 1 Hz. If Vsense =2 sn(4000xt) V and
Vier = 4 sm(2000xt) V, the voltmeter reading is V (rounded off to nearest
integer).

Note: Assume all components are ideal.

V ,.
SCNnse : 1

N

i

i

L

i

Amplhifier PMMC

voltmeter

Vref

Comparator

Page 41 of 43
Organizing Institute: lIScBengaluru



GATE
2024 Instrumentation Engineering (IN)

ISc Bengaluru

Q.61 | A 50 kVA transformer has an efficiency of 95% at full load and unity power factor.
Assume the core losses are negligible. The efficiency of the transformer at 75% of
the full load and 0.8 power factor is % (rounded off to one decimal
place).

Q.62 | A three-phase squurel-cage mduction motor has a starting torque of 100% of the
full load torque and a maximum torque of 300% of the full load torque. Neglecting

the stator impedance, the shp at the maximum torque 18 % (rounded off
to two decimal places).

Q.63 | Two magnetically coupled coils, when connected in series-aiding configuration,
have a total mductance of 500 mH. When connected m series-opposing
configuration, the coils have a total inductance of 300 mH. If the seli~-mductance of
both the coils are equal, then the coupling coefficient is (rounded off to
two decimal places).

Q.64 | The solution of an ordinary differential equation y""' + 3y" + 3y’ + y = 30e7 " is
y(t) = (cy + ¢t — c,t* + ¢ t)e™

Given y(0) =3, y'(0) = =3 and y"(0) = —47, the value of (¢, + ¢, + ¢, + ;)
1S (rounded off to nearest integer).

Note: y'"' = d3y/dt?, y" = d?*y/dt*,y' = dy/dt and ¢, c,, C,, C, are constants.
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Q.65 | A random variable X has a probability density function
- (e, x = 0
fx(x) = { 0, otherwise
The probability of X > 2 is (rounded off to three decimal places).
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, Question _
Q. No. | Session Section Key/Range Mark
Type | |

1 4 MCQ GA | A | 1
2 4 MCQ GA | B | 1
3 4 MCQ GA D | 1
4 4 MCQ GA | A | 1
5 4 MCQ GA B 1
6 4 MCQ GA D 2
7
8 4 MCQ GA C 2
10 4 MCQ GA A 2
12 4 MCQ IN B 1
14 4 MCQ IN A 1
16 4 MCQ IN A 1
18 4 MCQ IN A 1
20 4 MCQ IN A 1
21 NAT IN 0.15t0 0.17 1
22 4 NAT IN 0.70to0 0.80 1
23 4 1.61t0 1.6 1
24 4 498 to 502 1
25 4 32 to 32 1
26 4 -2to -2 1
27 4 400 to 400 1
28 4 22 to 22 1
29 4 -3to -3 1

4 1

oy
o

NAT

200 to 200




31 4 NAT IN 27.0 to 30.0 1
32 IN 10.1 to0 10.3 1
33 4 NAT IN 15t0 15 1
34 IN 1.10t0 1.12 1
35 4 NAT IN 0.5t0 0.5 1
36 4 MCQ IN A 2
37 4 MCQ IN A 2
39 4 MCQ IN C 2
41 4 MCQ IN A 9
43 4 MCQ IN A 2
-
45 4 MCQ IN A 2
46 4 | A |2
47 4 | e |2
48 4 A 9
49 4 A;C 2
50 4 0.450 to 0.550 2
51 4 410 4 2
52 4 6.00 to 6.30 2
53 4 210 2 2
54 4 58 to 62 g
55 4 NAT IN 210 2 2
56 4 NAT IN 2.81t0 2.85 2
57 4 NAT IN 9.5t0 10.5 2
58 4 NAT IN 310 3 2
59 NAT IN 2.6t0-2.4 2
60 4 NAT IN 0to 0 2
61 4 NAT IN 95.2 to 95.4 g
62 4 NAT IN 17.00 to 17.30 2
63 4 NAT IN 0.25to 0.25 2
64 4 NAT IN 33 to 33 2
65 4 NAT IN 0.130to 0.140 2
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